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100s¢ the correct answer from the following :
) A molecule is said to be chiral :
(A) Il it contains plain of symmetry
- (B) I it contains centre of symmetry

: i image
(C) Il il can not be superimposed on its mirror 1MAag

(D) If it can be superimposed on its mirror image

(i)  Optical isomers that are not mirror images are called :
(A) Diastereomers
(B) Enantiomers

(C) Metamers

(D) Meso compound
P.T.O.
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N A chiral enrbon

(A plan¢ of symmelry

A hydroxyl group

(C)

A contre of gymmelry
Whicl

(A)  Singly bonded

(B) A plane of symmelry

() Triply bonded

(D) A centre of symmetry

v aclive heeause it containg -

wounds can not exhibit ge )
y type of com] Ecometrica] i« .
. somerism 7

Assign E or Z configuration to the given compound -

28 CH,
/C:C\
H,C 1
(A)  E-configuration
(B)  Z-configuration

(C)  S-configuration

(D) R-configuration
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(vf) .
Nllrmin“ of pyrrole is best carried out using : :'
(A) Acety nitrate |
(1) Cuhccntmlmi nitric acid and sulphuric acid
(C) Nitric acig |
(D) Ammonium accelate
(vir) o

p ‘e substitu
Yrrole, furgy, and thiophene undergo clectrophillic

(A) 4 2-pasition
@) 4 I-position
(C)

at 3-position
(D) None of the above
Wii)) Which of (e following is not a five membered ring 4
(A)  Thiophene
(B)  Furan
(C)  Pyrrole
(D) Pyridine
(ix) The breackdown product of purine is :
(A)  Nitric acid
(B)  Uric acid
(C) Citric acid

(D)  All of the above
-J-30 3 P.T.O.
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(x) ~_ N is structure of :

(A)  iso-quinoline

(B)  quinoline

(C) Citric acid

(D)  All of the above

(B)  Answer the following : 10x1=1 |

()  Write chemical compound for onc chiral compound. |

(ii) Define structural isomerism.

(iii) What is optical isomerism ?

(iv) What is optical activity ?

(v) Why meso compounds are optically inactive ?

(vi) What is difference in cis and trans isomers ?

(vii) Draw chemical structure of cyclohexane.

(viii) Which hybridization pyrimidine pyrrole and furan are having ?

(ix) Which pH condition Claisen condensation requires ?

(x) Birch reaction named after which scientist ?

2. Solve any fwo of the following : 2x10=20
)] Discuss racemic modification. Explain in detail. resolution of racemic
mixture.
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" . and
) i . of pyrrole @
Discuss the synthesis and different chemical renction of 1Y

”'I.iﬂlﬂ‘cnel
(1ir)

E : ) ) clohexant.
xplain confirmation isomerism in ethane and cye

7x5=35
S Attemp any scven of the following

(i) Deseribe cnantiomers and dinstercomers in detail. :
) Explan optical activity with suitable example. |
(1) Discuss geometrical isomerism.
(i) Explain medicinal use of :

(@)  TFuran

() Thiophene

(c)  Imidazole
() Write a note on basicity of pyridine.

(vi)  Write reaction involved in Birch reduction.
(vif)  Discuss one example of Beckman rearrangement.
(viii) Explain synthetic application of appenauer oxidation.
(ix)  Predict the product :

|

(i) ~ + CI]SCHQBr —
N

\ » .
.. Cl [+,Mt_,ljr
(i) N Toar

0
(i) [” q\> + cl—t_SCly
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